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CBT Practice test model answers

Accounts Preparation II (APII)

Practice assessment 2
Section 1

Task 1.1
[image: image2.png](a) Find the credit purchases figure by preparing the purchases ledger control account for the year

‘ended 31 March 20X7.

Purchases ledger control account
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[Bank 28345 Balance bid 2651[q]
[Balance cia 3019 [Credit purchases. 26513[q]
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During the year, a customer was declared bankrupt. The amount has been written offin ull

(b) Find the amount written off by preparing the sales ledger control account for the year ended

31 March 20X7.
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Task 1.1, continued
[image: image3.png]{c) Find the cash purchases by preparing a summarised bank account for the year ended 31 March 20X7.

Bank.
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Balance cid 1235 Balance bid 2614[q]
[Purchases ledger control account 26343[q]

[Prawings 12000[q]

[Sales ledger control account 59362 [Office expenses 1856014
[Bank nterest paia 142[q]

[Cash purchases 93[q]

[«

70897 70597[4]





Task 1.2

[image: image4.png](a) Complete the capital account as at 1 April 20X6, showing clearly the balance carried down.,

Capital
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The following day, the trader Sold goods at amark up on cost. The receipt was banked and the transaction
entered inthe records.

(b) Tick the appropriate boxes to show how this transaction affects the elements of the accounting

‘equation below.

You must choose ONE answer for EACH row.
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Task 1.2, continued
[image: image5.png](c) Calculate the value of the cost of goods sold for the year ended 31 March 20X7.

= [55000

(d) Calculate the value of inventory as at 31 March 20X7.

£ [a120

You are given the following information about another sole trader.

‘The cash book shows a debit balance of £5,680.
‘The bank statement on the same date shows thatthe business has a credit balance of £6,950.

(&) Which ONE of the following could explain this difference?

Direct debits on the bank statement have not been entered in the cash book.

‘Cheques to suppliers sent out atthe end of the month have not yet cleared.

Areceiptirom a trade receivable has been postedto the bank account twice.





Section 2
Task 2.1
[image: image6.png](a) Calculate the sales revenue figure to be included in the income statement for Onyx.

2 [ 261300

(b) Calculate the purchases figure to be included in the income statement for Onyx.

2 [ 163850





Task 2.1, continued
[image: image7.png]Onyx Trading
Income statement for the year ended 31 March 20X7

[Sales revenue 261390)
[opening inventory 20610

[Purchases 163850

[Closing inventory 23040

[Cost of goods sold 161420

[Gross profit 99970
[other income:

[Disposal of non-current asset n 350)
lLess:

[Carriage outwards 4100

[Depreciation charges 7680

[Wages 25500

[General expenses 32950

[Total expenses 70230)
[Proft /Toss for the year 30090]





Task 2.1, continued
[image: image8.png](d) Identify ONE valid reason for producing an initial trial balance.

Itproves that no errors have been made

It provides a figure for profitfor the year

Itshows where figures appear in the financial statements

Itproves that double entry has taken place

You are preparing the financial statements for an organisation when you notice the.
following inconsistency in the books and records:

+ The cost ofvehicles in the inital tral balance shows a debit balance of £64,000.
+ The total cost of vehicles from a st ofthose present atthe year end was £78 400.

(e) Which ONE of the following could explain this difference?

Anewly purchased vehicle was notincluded in the physical count.

The theft of a vehicle has not been recorded in the non-current assets register.

The sale of a vehicle has been omitied from the initialtial balance.

The purchase of a vehicle has not been posted to the general ledger.





Task 2.2

[image: image9.png](a) Show the entries required to eliminate the goodwill from the partnership accounting records on 1
October 20X6.

(b) Complete the following statements regarding Riva's position in the partnership at the end of the day
on 1 October 20X6.

Rivas share ofte profs and losses n e parnerhiphas s e cnanga ntne

partnership agreement.

Rivas captal account atanc has [Gecreased [l ferthecrange nne parnerip agreement

(c) Complete the following sentence by selecting the appropriate phrase in each case:

When a partner reires from a parinership business, ine balance on the [pariner's cumrent account il
must be ransferred fo the [partners capital account. Rl





Task 2.3

[image: image10.png]Prepare the current accounts for the partners for the year ended 31 March 20X7. Show clearly the

balances carried down. You MUST enter zeros where appropriate in order to obtain full marks.
Do NOT use brackets, minus signs or dashes.

Currentaccounts.
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Task 2.4

[image: image11.png](a) Calculate the balance of each partner's current account after sharing profits. Indicate whether these
balances are DEBIT or CREDIT (the answer fields are not case sensitive).

Balance Debit  Credit

Currentaccount Jon £ 13850 [creat

Curentaccount  Pat £ 18930 [creat





Task 2.4, continued
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